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Examining Graphs Name:
Deter mine which statements about the graph aretrue. ANnswers
1) 14 , A.The point (0.4, 8) shows that 8 boxes
v weigh 0.4 kilograms.
0.8
S B. The point (0.6 , 12) shows that 0.6
= 06 kilograms is the weight of 12 boxes.
S S
o 04 i .
= j C. The point (10, 0.5) shows that 0.5
0.2 L7 kilogramsis the weight of 10 boxes.
g »  D.Thepoint (6, 0.3) shows that 0.3 kilograms
4 8 12 16 20 is the weight of 6 boxes.
Boxes
2 2500% , A.The point (2 , 500) shows that drinking 2
o sodas will mean you consumed 500
g 2,000 calories.
@ 1,500 L B. The point (8 , 2000) shows that to consume
3 i 2000 calories you'd have to drink 8 sodas.
8 ¢
5 1,000 C. The point (750, 3) shows that to consume
g 500 e 750 calories you'd have to drink 3 sodas.
i R D. The point (500, 2) shows that drinking 2
> 4 6 8 10 sodas will mean you consumed 500
Sodas Drank calories.
3) 154 , A.The point (12, 8) shows that 8 pieces of
v chicken will cost $12.
12
il B. The point (4.5, 3) shows that 3 pieces of
g 9 1 chicken will cost $4.5.
X 5 7
C. The point (7, 10.5) shows that 7 pieces of
3 L’ chicken will cost $10.5.
g »  D.Thepoint (1, 1.5) showsthat 1 piece of
2 4 6 8 10 chicken will cost $1.5.
Pieces of Chicken
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Examining Graphs

Name:

Answer Key

Deter mine which statements about the graph aretrue.

1)

2)

3)

Calories Consumed weight (Kg)

Price

A

1

0.8

0.6

04

0.2

A

25001

N
o
o
o

1,500
1,000

500

16

»

15

12

2

4

6

Sodas Drank

8

Ll

10

»

2

4

6

8

Pieces of Chicken

Ll

10

A. The point (0.4, 8) shows that 8 boxes

weigh 0.4 kilograms.

. The point (0.6, 12) shows that 0.6

kilograms is the weight of 12 boxes.

. The point (10, 0.5) shows that 0.5

kilograms is the weight of 10 boxes.

. The point (6 , 0.3) shows that 0.3 kilograms

isthe weight of 6 boxes.

. The point (2, 500) shows that drinking 2

sodas will mean you consumed 500
calories.

. The point (8, 2000) shows that to consume

2000 calories you'd have to drink 8 sodas.

. The point (750, 3) shows that to consume

750 calories you'd have to drink 3 sodas.

. The point (500, 2) shows that drinking 2

sodas will mean you consumed 500
calories.

. The point (12, 8) shows that 8 pieces of

chicken will cost $12.

. The point (4.5, 3) showsthat 3 pieces of

chicken will cost $4.5.

. The point (7, 10.5) shows that 7 pieces of

chicken will cost $10.5.

. The point (1, 1.5) shows that 1 piece of

chicken will cost $1.5.

1.

2.

3.

Answers

C,D

A,B

C,D
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